1.
Determine the non-permissible values of x, in radians, for each expression.
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2. Use a graphing calculator to determine whether each equation might be an identity.
a)
sin2 x sec2 x  sec2 x  1



b)
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c)
cot x  tan x  csc x cot x
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5.
Verify the equation 
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 and state the restrictions on x.
3.	Verify the equation 


     sin4 x  cos4 x  2 sin2 x  1


     is true for �EMBED Equation.DSMT4��� using exact values.

















4.	Verify the equation


     sec x  sec x cos x  1  sec x  


for �EMBED Equation.DSMT4���.
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